
MA 16020 — Quiz 1 (Solutions) Wednesday, September 3, 2025

Problem 1. (4 points) Differentiate
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Hint: Simplify the expression into separate terms before differentiating.

Solution.

y =
x6

√
x
− 7

√
x√
x

= x6−1
2 − 7x

1
2
−1
2 = x

11
2 − 7.

Differentiate termwise:
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Problem 2. (4 points) Evaluate using the Fundamental Theorem of Calculus:∫ 1

0

(
3t2 + 2t

)
dt.

Solution. ∫
(3t2 + 2t) dt = t3 + t2 + C.

Apply the bounds: [
t3 + t2

]1
0
= (13 + 12)− (0 + 0) = 2.

Grading note: Name & date at top of the quiz = 2 free points.
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